
Noreen 3e Practice Exam – Chapter 12  
Print these pages. Answer each of the following questions, explaining your answers or showing your work, and then compare your solutions to those provided at the end of the practice exam.

1.
The Software Division of Matrix, Inc. recorded the following operating data for the past year: 

	Sales 
	$400,000

	Net operating income 
	50,000

	Residual income 
	26,000

	Average operating assets 
	200,000

	Stockholders’ equity 
	160,000


Part (a)

What was the division’s return on investment?

Part(b)

What was the division’s margin?

Part (c)

What was the division’s turnover?

2.
The following data are available for the Northwestern Division of Dempsey, Inc. and the single product it makes. 

	Average operating assets 
	$3,000,000

	Annual fixed costs 
	560,000

	Unit selling price 
	40

	Variable cost per unit 
	24


How many units must the division sell each year to achieve an ROI of 16%?

3.
A divisional manager receives a bonus based on 10% of the residual income from the division. During the current year, the division reported revenues of $1,000,000 and expenses of $500,000. The division had $2,000,000 in average operating assets. The minimum required rate of return for the division was 15%. What was the amount of the manager's bonus? 

Noreen 3e Practice Exam Solutions – Chapter 12
1.
Part (a) Solution (Learning Objective 1):

The return on investment for the past year is determined as follows. 

ROI = Net operating income ÷ Average operating assets 
ROI = $50,000 ÷ $200,000 = 25%


Part (b) Solution (Learning Objective 1):

The margin for the past year is determined as follows. 

Margin = Net operating income ÷ Sales 
Margin = $50,000 ÷ $400,000 = 12.5%


Part (c) Solution (Learning Objective 1):

The turnover for the past year is determined as follows. 

Turnover = Sales ÷ Average operating assets 
Turnover = $400,000 ÷ $200,000 = 2

2.
Solution (Learning Objective 1):

First, calculate, the division’s required operating income as follows.
Net operating income = Average operating assets x ROI 

Net operating income = $3,000,000 x .16 = $480,000

Then, calculate the number of units that must be sold to generate that operating income as follows.

Net operating income = Sales – Variable expenses – Fixed expenses; let X represent the number of units

Net operating income = $480,000 = $40X – $24X – $560,000
Net operating income = $1,040,000 = $16X; X = 65,000 units
3.
Solution (Learning Objective 2):

First, determine the minimum required return as follows.

Minimum required return = Average operating assets x Minimum required rate of return

Minimum required return = $2,000,000 x .15 = $300,000

Then, determine the residual income as follows.

Residual income = Net operating income – Minimum required return

Residual income = ($1,000,000 – $500,000) – $300,000 = $200,000

Finally, determine the bonus as follows.
Bonus = Residual income x 10% = $200,000 x .10 = $20,000
